
CBA

FED

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

aSMA

%
of
Li
n-

4T1 4T07

7 14 21
0

10

20

30 aSMA

Tumour age in days

%
of
Li
n-

4T1
4T07

0.0009
< 0.0001

slope significantly
non-zero?
4T1 p=

4T07 p=

Are slopes different?
0.7545p=

r2= df=57.00

r2= df=67.000.1526

0.3444

7 14 21
10

20

30

40

50 PDGFRb

Tumour age in days

%
of
Li
n-

4T1
4T07

r2= df=57.00

r2= df=67.000.07182

0.1763

0.0260
0.0009

slope significantly
non-zero?
4T1 p=

4T07 p=

Are slopes different?
0.3561p=

7 14 21
0

10

20

30

40

50 Podoplanin

Tumour age in days

%
of
Li
n-

4T1
4T07

< 0.0001
< 0.0001

slope significantly
non-zero?
4T1 p=

4T07 p=

Are slopes different?
0.8299p=

r2= df=57.00

r2= df=67.000.2313

0.2652

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

PDGFRa

%
of
Li
n-

4T1 4T07

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

Podoplanin

%
of
Li
n-

4T1 4T07

7 14 21
0

10

20

30

40 PDGFRa

Tumour age in days

%
of
Li
n-

4T1
4T07

< 0.0001
0.0259

slope significantly
non-zero?
4T1 p=

4T07 p=

Are slopes different?
0.0089p=

r2= df=57.00

r2= df=67.000.3514

0.08407

7 14 21
30

35

40

45 FAPa

Tumour age in days

%
of
Li
n-

4T1
4T07

Shared fit r2= df= 126.000.004270

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

FAPa

%
of
Li
n-

4T1 4T07

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

PDGFRb

%
of
Li
n-

4T1 4T07

Healthy
D0

D7 D14 D21 D7 D14 D21
0

20

40

60

80

CD26

%
of
Li
n-

4T1 4T07

7 14 21
20

30

40

50

60 CD26

Tumour age in days

%
of
Li
n-

4T1
4T07

0.9205
< 0.0001

slope significantly
non-zero?
4T1 p=

4T07 p=

Are slopes different?
0.0007p=

r2= df=57.00

r2= df=67.000.0001498

0.2428

****

*
**

**
***

***

***
********

****
**

****
***

*
*

*
****

Interaction p = 0,0037 ****

*

**

****
**** Interaction p=0,00036 ns

fig S5


